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SECTION A — ANSWER ALL QUESTIONS

Derby PLC is UK company and is currently assessing an investment oppertunity in the
USA. It is considering a machine cost of $1,425,000 and a waorking, capital requirement
of $90,000.00, which is anticipated to be recouped at the end, of theleentract. In terms
of taxation, the corporation tax rate stands at 30%, while_capital allowances are set at
25%. To finance the project, Derby PLC has the option ‘off@p$500,000 loan at a 5%
interest rate or equity worth $925,000 at a 10% rate. The Exghange is £1 = $1.30

The unit selling prices are as follows:

Sales Price $24.00,
Material Cost $6.25,
Labour Cost $4.50.
Year on Year inflation Year 2 Year3“hYear 4
Sales Price 6% 8% 9%
Material Cost 5% 6% 7%
Labour Cost 3% 4% 6%
Sales units, associated probabilities
Scenario 1
Year 1 Yeaf 2 | Year3 | Year4
Sales ¥75,000 | 160,000 | 150,000 | 150,000
(units)
Probability | 0.3 0.3 0.2 0.2
Scenario2
Year 1 Year2 |Year3 |Year4
Sales 350,000 | 125,000 | 170,000 | 200,000
(units)
Probability | 0.5 0.2 0.1 0.2

Question 1 continues over the page
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Question 1 continued

Required:

a) Calculate the Net Present for Scenario A and ScenarioB,in £ GBP.
(14 Marks)

b) Critically discuss the sensitivity of the Net PresentiValue (NPV) of the
investment opportunity for Derby PLC to variations in Key financial
parameters such as discount rate, initial investment,cost, and revenue
projections?

(6 Marks)
Total 20 Marks

Question 2

As the Managing Director of Darlington,PIc,’l recognise the importance of
understanding and accurately calculating our weighted average cost of capital (WACC).
As we aim to make informed4inancialdecisions to drive the growth and success of our
company, it's imperative thatywe have a clear understanding of the cost of the funds
invested in our business.

I'm reaching out to you, as.our Management Accountant, to assist us in calculating the
WACC for Darlington Pley This calculation will provide us with valuable insights into the
minimum rate ofseturn we need to generate to satisfy both our equity and debt
investors. Bygeonsidering the cost of equity and debt in relation to their respective
proportiong’in our,capital structure, we can assess the overall cost of capital for the
companyk

Understanding our WACC will enable us to evaluate the profitability of potential
investmentpportunities and strategic initiatives. It will serve as a critical benchmark for

assessingythe financial viability of projects and determining whether they are expected
to generate returns that exceed our cost of capital.

Question 2 continues over the page
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Question 2 continued
The following data is available:

Capital Structure:

Ordinary Shares:

Number: 7,000,000

Nominal Value: £1

Cum Div Market Price: £1.65

Proposed Dividend: £0.11 (compared to £0.09 paid five years'ago)

Redeemable Notes:

Number: 0.75 million

Nominal Value: £1

Coupon Rate: 9%

Current Value Cum Interest: £106.20
Redemption Premium: 5%
Redemption Period: 5 years
Taxation: Corporation Tax Rate: 20%

Required:

a) The Weighted Average Cost of Capital
(14 Marks)

b) Critically evaluate the Capital Asset Pricing Model (CAPM) regarding its
ability toraccurately capture the complexities and dynamics of real-world
financial markets. Assess the model's strengths and limitations,
considering its foundational assumptions such as rational investor
behaviour, efficient markets, and the single-factor beta as a measure of
risks

(6 Marks)

Total 20 Marks
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Question 3

Accrington Plc is currently focused on enhancing its treasury management practices to
optimise its cash position and maximize returns. With a strategic emphasis on efficient
cash utilisation, the company aims to minimize transaction costs while effectively
managing excess cash. To achieve these objectives, the Managing,Director has
prioritized the implementation of robust cash management models suehras the Baumol
Model and the Miller Orr Model. These models offer systematic approaches to
determining the optimal cash balance, transaction frequengy,iand. transfer points,
aligning with Accrington PIc's overarching goal of enhancing\liquidity management and
capital efficiency. By leveraging these financial tools and,strategies, Accrington Plc
seeks to strengthen its financial position, improve eashsflow,dynamics, and ultimately
drive sustainable growth and profitability in the market.

The Managing Director has provided you with4hefollowirnlg information and asked you
to present your finding at the next board meéting.

Average excess cash balance of £12,000 penmanth, which it aims to invest to earn
returns while ensuring liquidity for opérationalneeds, with an opportunity to earn
returns on short-term investments at a rate of 0.06%. The company incurs a
transaction cost of £55 for each investment-

The company's minimum cash balanee, requirement is £25,000, with a transfer cost of
£40 per transaction. The standard deviation of daily cash flows is £4,000, and the daily
interest rate is 0.04%.

Required:
a)

I. Calculate the optimum cash to be invested in each transaction to minimize
total transaction costs. (2 Marks)

Il. Calculate how many transactions per year are required to manage excess
cash effectively. (2 Marks)

Il Calculate the total transaction cost per annum incurred by utilising the
Baumol Model. (2 Marks)

IV. ICalculate the spread between the upper and lower limit set by the Miller Orr
Model.
(4 Marks)

Question 3 continues over the page
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Question 3 continued

V. Calculate the upper limit of the cash balance. (2"Marks)

VI. Calculate the return point for transferring funds to maintain the desired
cash balance.
(2 Marks)

b) Critically discuss the role of inventory management in/optimising working
capital levels and minimising carrying costs for a company.

(6 Marks)

Total 20 Marks
Question 4

As the Managing Director of Aldred Plc,\\am-eurrently facing a critical decision
regarding the potential divestment of our business operations. Recognising the
complexity of this undertaking, | am reaehing out to seek your support in calculating an
accurate value for our business.

In my capacity as ManagingsRirector, 1 am entrusted with steering Aldred Plc through
strategic challenges and opportunities. The decision to consider divestment weighs
heavily on me, as | upderstand its profound implications for our company's future.

With this in mind, | am™tukning to your expertise for assistance. As a seasoned
professional infinancial apalysis and strategic planning, your insights will be invaluable
in determining,the true value of Aldred Plc. By collaborating with you, | aim to gain a
comprehensiveiunderstanding of our company's worth, enabling us to make informed
decisionsthat maximize value for our stakeholders.

Question 4 continues over the page
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Question 4 continued

Given Data for Question

Non-Current Assets (WDV): £2,400,000

Net Current Assets: £400,000

£0.50 Ordinary Shares: 1,600,000

Reserves: £625,000

8% Loan Notes: £500,000

Recent valuation expects above WDV: 35.00%
Loans Notes Redeemable (premium):i12.00%
Bad debt: £15,000

Earnings: £1,300,000

Similar Company as an Earning,Yield: 11%

Growth rate of earnings: 3%

Required:

a) Considering the company's financial structure and assets, calculate the

value of a share jn.this'’company using Asset-Based Valuation.

(8 Marks)

b) Using the Earnings Yield Method determine the company's value without
factoringin any growth, providing a conservative estimate of its worth based
solely ondits current earnings.

(6 Marks)

c) Usingthe Earnings Yield Method assess the company's value with growth
considerations, considering the projected growth rate of earnings.

(6 Marks)

Total 20 Marks
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SECTION B- ANSWER ONE QUESTION ONLY

Question 5
Durham, a UK company, is now due to receive €1,400,000 in 3 ménths’ timé”and
chooses to enter into a money market hedge to eliminate the transaction risk on the
receipt.
Appropriate information is as follows:
Current spot rate:

e €1.153-€1.158 = £1
Money market rates per year:
Eurozone Borrowing: 3%
Eurozone Lending: 2%

UK Borrowing: 5%

UK Lending: 3.5%%

Required
a) Calculate the £ that would be received using the money market hedge.

(14 Marks)
b) Critically discuss the following statement:-

“Foreign exchange markets present both challenges and opportunities for
multinational corporations in managing currency risk”
(6 Marks)

Total 20 Marks
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Question 6

a) Using book values for a company with the following long-term&ources_of
finance: Ordinary shares of £3 million (nominal value £1), reserves of £340,000,
preference shares of £0.6 million (nominal value £110), and cdrrent liabilities of
£0.5 million.

Calculate the

1. Capital Gearing
2. Equity Gearing

(14 marks)

b) Critically discuss how does the Efficient Market,Hypothesis (EMH) impacts
investment decision-making and market ‘efficiency in financial markets?

(6 marks)

Total 20 Marks

END OF QUESTIONS
END OF EXAM PAPER
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